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- ASSESSMENT TASK 2

Question 1 (13 marks) Marks

(&) Write down the primitive function of Jx
(B) Evaluate:
® 2
J.(Sx"' ~3x% +7) dx
0

@
Jsz -0
-1

. . d
© The curve y = f(x) has a gradient function Ey =3 —4x.
The curve passes throngh the point (1, -1). Find theé equation of the curve.

(d) Find the value of A if
222 —3x+5=AGx -1 +x +3

@

The diagram below illustrates a fanction y = f(x) for —2< x <3. It cansists of 1 line
segment and 2 semi circles.

F 3

[ LI TP --‘.‘..—

3
Evalnate J‘ fx) dx,
~2
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Question 2 (12 marks) Start a NEW Page. Marks )
Question 4 (13 marks) Start a NEW Page. Marks
(a) Skeich the locus of point P(x, y) which moves so that it is always a distance of 2 units from the 2 , . '
point ( -2, 0). Hence write down its equation. (&) A parabola has vertex V(3,1) and directrix y=-1
Find the equation of the parabola. 2
; 4 52 _ 3
®) Solve the equation x*~7x"+12=0 (b)  Find the values of % in the quadratic equation X -5x+k-1=0 if
. . i t i alto 2 2
(¢) A point Q(x, y) moves so that it is equidistant from the point (1,2) and the line y = - 2. ((2) gﬁ: izz t;: ;?:racfproc al of the other 5
Describe the locus of point Q geometrically. (Do not find its equation.). 1 -
" © 2 _g._ nates of fhe foc N
(@) If & and fare the roots of the equation 2x? —~7x — 5 = 0, find the values of F? r the parabola x =8y ~24, find the coordinates of the fous. >
: 1
(1) a+f i @ A(3,1)and B (3, -1) are two fixed points. The point P(x, y) is a variable point which moves
83) ?f DD 2 such that PA% + PB? =70
() e -t 2 (i) Find the equation of the locus of point P. 3
] @+h7 +(B+D) (i) Describe this locus in geomefrical terms, stating its important features. 2
Question 3 (11 marks) Start 2 NEW Page.
Question 5 (11 marks) Start a NEW Page.
(aj  Find:
: 2 .
® (2%~ D2z + 1)z @ @ Salve:(4+B(1-k <0 1
) §2 @ For what values of k is the quadratic expression kx? +4x+ (% +3)
(i) 25 +3) 4 positive definite?( Hint: part (i) may be usefal.) 3
% . ) . 2 s
® ; ® @ Differentiate (x“ +3)
i),
) Hence, find J' x(x? +3)*dx
x i 115 126 |25 140 (¢)  The graph with equation y = a;c(éf 2 %) is shown below.
< = 3
SN S : i
TERET Tz big v
I ¥.4.8 113 ji17 123 : ‘ ¥ = wdt-3
Find the appmxim'ate area under the curve shown above using the Trapezoidal rule.
3
(¢)  Find the volume of the salid of revolution shown above. i 8 af 4F
A7 The area of the shaded region is 40 square units. Find the value of a.
y=xt+1 5 -1
@ If J. g(®dx =7, find the value of : (i) J.g (x)dx 1
- 4 ! -1 5
x . 5 2 :
2 @ ﬁ3 g0 +2]dx -
-1
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